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1. Calculate 4H 500 and AS;s00 for the reaction Zr(p) + O2 = ZrO2(p).
(Utilize the Tables in the APPENDIX of the textbook.)
(§o©

6es g2
AHlsobz I'l; 0 tf” - H},,( - HDl

z.o.<(u H“Mﬁj G604 05300 T - Iy 010" T")JTMHMM,;;

1¢1¢
JW‘ GdT (210,)

[6eo

Jowadr = -0 T 8 x0T 484016874 4.1¢10°7

™3

S Gplr Guopy

o a3
H‘:’”‘(" ) S (0994 1142 16" T)dT 4 AHMMM#})"‘S (Bwtiye’T) dr
= 1'§TX1°+\T +2.4K(FT + 1. 39x10°7

o= lboo -
Ho, = J. o O EIX0TT- 160 110 T dT= 290007

l

Calou‘afe r»“, we ;lef AHlbm = -1085900J

_ l‘OQ Jhoo Mgb
Afmov =J 210 () ‘5 pp)

= o
S %voxtp Sw (o) t J " Cﬂd)JT 4'\S\m.l,g,(,,ﬁ) j“ c'WJ’ II“ J/k

(Y04 %2 Olecg( gy durg)

3¢ Cf(-(} e G
Sbfﬂ) Slﬂ (wo,) +fm T4 \f+yz.n((.(_,F) '}'f“‘% Cf?e{7= 7)/\7//(



) q/k
16
C"l_o\‘] J(— -
l{vs Crio
T

M
. J';l (Ov)

{, =

144 J/k
J' I{o-: _
A



2. Calculate the value of 4G for the reaction
Si3Ng + 3 02 = 3 SiO; (a-quartz) + 2 N2

at 800 K. What percentage error occurs if it is assumed that AC,, for the reaction is zero?
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